Al &= a, b, ¢ 8] o] 30]BE
a+b+c
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ca+b+c=9 -----. @

T3 a, b, ¢ O] F4to] 20l 2

(a—3)2+(b-3)2 + (c-3)?

3

(@-3)2+(-3)2+(c-3)2=6

a’>—6a+9+b>-6b+9+c*-6c+9=56

a?+b>+c?>-6(a+b+c)+27=6
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A+ +c?-6x9+27=6

L al+ b+ 2 =33

wrebA a2, b2, ¢?, 5, 7 9 W2

A+ +c2+5+7 33+12
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OHAR 7RO W8, 7, x, y, 9 O] o] 8 olB=
8+7+x+y+9

=8, x+y+24=140

Ut

0+1+x>—16x+64+y?—16y +64+1

. =
x2+y2—16(x+y)+130_5
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x?4+y?* = 16(x+y) + 130 = 25
Sox2+y?-16(x+y) =-105---©
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x% +y% =16(x +y) — 105 = 16 x 16 — 105 = 151
x2+y?=151---®
(x+y)? = 2% +y% + 2xy,
162 = 151 + 2xy, 2xy = 105
. dxy = 210
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